
u = <0 ,
1

,
2) V = <

,
- 2

,
3)

x
① Cross Product n =

IluxVl) =, 2,
-1--

x =

/
+ To beI

= (7
,

2
,
-1)

② Normalize

11xill = AEE+ Ex = 554 = 35
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a) FALSE

In. 1 = (vii) /cosol in general.

Since Kosol1 ,
1.) = fulllkosel ? fulli) only when

0 = 0 or Th

b) TRUE

Since XV = -(Vxi)
,
rectors are opposite with

magnitudes same.

C TRUE

xi = 11 to both i and.

So : (ix) · i = (xi) . v =0

d) FALSE

xt=s illu e =Gor=:

Take in = < 1 , 2
,
3) v= zi = (2

,
4

,
6)

-

Y = I i j I I
= i((z - (2) - j(6-6) + k(4 - 4)uX

13
246 = I



a) [ , (t) = (2+t , 2 +3t
,
3 + th i (t) = <2+S ,

3 + 45
, 4 + 25)

21 = < 1
, 3 , 17 2 = <

,
4

,
2)

XParallel- + k ie
.

not scular multiples
X Intersect - 2+ t = 2+ S t= S

2 +3t =3 +45 3 3t= 1 + 45 c-bad
3 +t = 4t 25

: Skew

b) = 24
,

1
,

-3)di = (
,

0
,
2)

XParallel

Intersect- 1 + 7t = 4- S ->S+ 7t = 3

3 + t = 6 -> t= 3 3 S = - 18

5- 3t = 7 + 25

↳
5- 3(3) = z+2(18)

-47 -29

:. Skele



c d = <- 2
,

1 ,
- 1) de = <- 4 ,

2
, -2)

2= .. ill

at line : d = <- 1
,

1
, -3) -directional vector

Plane : n =( 2,2 ,
07 -normal vector (1 to plane)

d . n = - 1 . 2 + 1 . 2 + - 3 . 0 =0: .
Parallel

b) line : d = 2-2 ,
1

,
- 1)

Plane : n = < 6 ,
- 3

,

3)

XParallel : . n = -z(0) + 1 ( 3)+1(3) + 0

X Perpendicular : d kn where IEIR

i

. e, not scalar multiples of eachother

. Neither


